Al

2000 = =0l & 2 BHa A

SN

X| ZH -
S =

S A AL A
HIIZ Mel
Cel: HII2 MelAld 22

= 0l & AF & Y Al

A

SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
SRR ALY A 3,027,017 2,070, 155 956,862
= 500,000
< 150,000
Al 2,377,017
HOIE HMel 2,935,957 1,984, 167 951,790
= 500,000
= 150,000
Al 2,285,957
HOIZ2 MelAa e 1,600, 183 1,449,495 150,688
U= AEBEHEE el 123,000 300,000 A177,000
401 A&HIZSHY 123,000 300,000 A177,000
01 Al&H] 123,000 300,000 A 177,000
OMWEE FIIZHA 28,000,0002! * 14! 28,000
ONEE LSASZENY RESMELEZ
Ab 95,000,0002! 14! 95,000
R ZOSt RIZ Y42 S TA 800,000 500,000 300,000
401 AN&HIYL2HY] 800,000 500,000 300,000
01 Al 800,000 500,000 300,000
ONE FOEH NI L tH 2 & & 2 A}
800,000,0008 *14] 800,000
A4t 258 HEIO LS 60,000 50,000 10,000
401 A&HIZLSHY] 60,000 50,000 10,000
01 Al&] 60,000 50,000 10,000
O HLH X432t HEIOIO 2HHS SA
60,000,000 *14! 60,000
HOIZ MelAE & A&I1H KX 460,529 441,409 19,120
201 Yer2y| 317,789 287,189 30,600
01 AR 22l 3,720 0 3,720
O1 Ler+gH| 3,720
> & | OhF 22| TH 3 155,000% * 122 1,860
> A O R 24 22| Y & 300, 0002 * 13| 300
R ] 130,0009 122 1,560
02 BZESYH 314,069 287,189 26,880
O1 2222 % Al 68, 100




SN

S A AL &

o {2 el
S HII2 MelAlE 22 (428
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
cC o= DT * - (= R wi e e o = 0:”/.:"% Wsa
DRRERS 1,750 x30H = 128 630
>EIIR2 4,850,000& ~12& 58,200
DAMGEERS 260,000 «12& 3,120
>DESE= 5,600
OETZEHA 900, 000& *=2CH 1,800
O &t =X} 800,000 = 1CH 800
o=24a)1¥z224d 300, 000& =3CH 900
0= 300, 000 «2CH 600
OASERH 500,000& = 1CH 500
OO0IZ Xt 200,000 =2CH 400
OY RS 600,000 ~1CH 600
DAES2L2AES 42 550
QAN ELZ(HE) 150,000 23| 300
ogtgtate| L A otAM S S|
100,000& *13] 100
OfIgdEsxIgdotd 2| X &3l
100,000& 13| 100
oflg=zx=A83HI 50,000 13| 50
O2 A2H| 25,494
>EZ 1052 *8A| 2H%2 . 5x992-& 2,084
[ == 1052 *8A| 2H+2  5x2[H 992 4,167
DEEsHES
1052 *8A| 2H+2  5x2[H x992& 4,167
> Il H A ek 105 8Al 2H*30H*997 & 2,513
DEZE4 I Lt
105 *24 Al 2Hx50H 997 & 12,563
O3 AIE&&H| 8 Xl 208,259
>2AAI|H KX B 36,110
OF=K &Y 160,000 14! 160
OAEIH(ERN) EzH stz
35,000,000 1A 35,000
OXNSXMYALIH (2L, 2H , E2)
HAIE2 250,000& = 14! 250
OEHIMNHBEHZ2(EZ3)
350,000& x23| 700




A SENZAS A
M HIIZ2 HMel

ool HOI2 HelAa Bl (@
_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 e SImE=ET
SODIA NSRS 3,500
OJIHA A&EZEHI 2,500,000& * 14! 2,500
ogg3 F+TE A
1,000,000& * 14! 1,000
>2AEIA 168,649
O=2&=®H
1,594%%13,0002| &4 *2CH+13,000, 000 54,444
oz=4
1,594& +7,5002| & *1CH+4,500, 000 16,455
o= 40|
1,594& +7,5002| & *2CH+6,000, 0002 29,910
OEZEY
1,594& «5,0002| & *2CH+4,000, 000 19,940
OHZ2H 3,000, 000 =2CH 6,000
OME&2I 1,500,000& *23] 3,000
OELZR 140,000 «30CH 4,200
OE=Z% 1,000,000 *4CH 4,000
OZMEBHZ 1,500,000& *23] 3,000
oW AT OIH 200,000 = 10CH 2,000
OBBE R4 EHEI|)|
5,000, 000& *2CH 10,000
OM&sE = 2,000, 000& *23] 4,000
O& g4 AlgE 300,000& *5& 1,500
OdsIIH=2 70,0002 300 <22l 4,200
OHMASLMOE 50,0003 302 x4 & 6,000
O4 Xtgtd et 12,216
Dats 2 ASR 4,000, 000& *2CH 8,000
> OIEX |XYI 400,000 +2CH 800
DEREIE 3,416,000& = 1CH 3,416
202 O4Hl 12,720 10,200 2,520
01 =LHAHI 12,720 10,200 2,520
OJl2g =48] 1,060,000 123 12,720
206 = Hl 7,020 7,020 0
01 MZHl 7,020 7,020 0
OBl Al 7,020




AN SETEAA A
M HIIZ2 HMel

&2 HIOIE HMelAlg 2el (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
>Ed 1,500,000& *27H 3,000
DEHIEH 250,000 * 104 2,500
> ASXE 50,0003 =44 200
D> af =Xt 250,000 =44 1,000
PHRE S 80,0003 =44 320
401 Al &HI=20HYI 70,000 62,000 8,000
01 A&l 70,000 62,000 8,000
O EAE(I1AH, 8,01 &) X224
50,000,000 * 14! 50,000
QHIISXelAld 2Hels B3 At
20,000, 0003 * 1A 20,000
405 KHHHE SHI 53,000 75,000 A22,000
01 TRIEEEFHSHI 53,000 75,000 A 22,000
Oitaxdya o s 50,000,000& 14! 50,000
Og=RE olgxt7d 1,500,000 *2CH 3,000
HE & F=H0tS 2l 156,654 158,086 A1,432
206 M=l 19,854 21,286 AN1,432
01 M=l 19,854 21,286 1,432
OgAxE 15,800
PESE ASH 45,000& 2002 & 9,000
DESE A 7,000& 2002 & 1,400
DHUAAEE AF 45,0003 1202/ & 5,400
OHYUAL=E RF 4,054
>RYR 1,559& *402| Ef *653] 4,054
301 Lptsazg 136,800 136,800 0
12 JIEIEH 3 136,800 136,800 0
OF02AdAN+Y 1,900,000& 621 x 123 136,800
MNSESIUHEE 22| 1,006,300 261,870 744,430
= 500,000
& 150,000
Al 356,300
(PIEHZ SO E HHS ALY 1,006,300 261,870 744,430
= 500,000




AN SETEAA A
M HIIZ2 HMel

&Rl ASSEUEY 22 (el &)
_ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
(FEHESOHEE otE S At = 150,000
Al 356,300
401 AEHIL 2] 1,006,300 261,870 744,430
= 500,000
[ 150,000
Al 356,300
01 Al&H]| 1,000,000 255,640 744,360
O(F)EHE SO & HE SHAL
1,000,000,0008 x 14| 1,000,000
= 500,000
o= 150,000
Al 350,000
03 AlZ=CHbI 6,300 1,870 4,430
O(R)HESUEE HE ALY
6,300,0002! 14! 6,300
HIIZS Bt 2 2FHX 329,474 272,802 56,672
Hz4 Mol ¢ o Hyl 225,340 182,740 42,600
201 L2yl 18,100 15,500 2,600
01 At 2teld] 18,100 15,500 2,600
O1 get===4] 17,380
>Hels =ZEZA 210,000& » 123 2,520
D RISt SEZA 170,000 * 117 A *43] 7,480
Dees =EHA 210, 0003 *2IH A x4 3] 1,680
>SA RNIZHIIZ S22 A
130,000 %20} A *23] 5,200
DEY QAT A 500,000 * 13 500
O4 T=| 720
DEABHF=(SS) 140,000 20! 280
DEHIAZBEH=(6=) 100, 000& *2¢! 200
DEABHYEE 70,0002 20! 140
>EAZEHCS} 50,000& x22! 100
206 MEH| 127,240 127,240 0
01 XMl 127,240 127,240 0
OAZUX 2 100,000




A SENZAS A
M HIIZ2 HMel

Sl HOIZ B o 22w (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
CEESHXEOIEA0 9 108)
100,000, 0002 * 14! 100,000
ONEEXIIT U Al 10,000, 0002 * 14! 10,000
OFE+ H2S WP 7,000,00021 %14} 7,000
ONEZE 2171 A2 8,0002! +30 % 240
O+ 2 (L, &t S)
10,000, 0002 * 14! 10,000
401 AlSHIL SO 80,000 40,000 40,000
01 AldH] 80,000 40,000 40,000
OFELHMTU HSH FHIZA
20,000, 00021 *14] 20,000
OHELHMUBU =2FH DABA
10,000, 0002 * 14! 10,000
OJIHa FIIEHl BHREE DHBA
10,000, 0002 * 14! 10,000
OB+ 0IZ2Z HXBM
40,000, 0002 * 14! 40,000
ANS A 104,134 90, 062 14,072
101 Q12| 17,204 17,002 182
B EEEEES 17,204 17,022 182
O At I 17,204
DYRIY AYE FH HA
41,3002 ¥5821 573 16,768
>ATHREE 16,768,0002 2.6/ 100 436
201 L2yl 56,930 56,540 390
01 AtR22lt] 56,930 0 56,930
O1 L8| 1,000
>RYE NRFAES 1,0002%1,0002 & 1,000
O4 T=y| 6,630
>R (S2) 140,002 *179l 2,380
> X =(5h2) 100,000 #1791 1,700
> et 70,0002 179! 1,190
> Q) 3t 50,0002 %17¢! 850
>0l 20,0002 #17¢! 340
> st 10,0002 172! 170
06 YR8 49,300




AN SETEAA A
M HIIZ2 HMel

chol OIS el ¥ Q&YX (B9l &9
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
DOMS(RLEU)ESX AXE
15,0008 530 E *43] 1,800
DHASZED FES SEX AN
9,500 *5,000E 47,500
401 A&HI LY 30,000 16,000 14,000
01 Al&H] 30,000 16,000 14,000
OFE+ Mol FAS Fe ¢ B2
15,000,000 23] 30,000
B2 A 91,060 85,988 5,072
ol (S#ATAAY L) 55,922 57,258 A 1,336
ozt oyl 55,922 57,258 A 1,336
101 Q124 50,962 52,258 A 1,296
02 +¢ 42,505 43,950 A 1,445
OAlRte 224 7, 45721 %1991 +300Al 2+ 42,505
08 JIEtE 4 8,457 8,308 149
OAIRt 22 4g 6,342 x201 180 Al 2 2,284
ooRtaesy 16,912 %201 x3652 #1/2 6,173
203 PeREXY 4,960 5,000 A40
02 FIINLREXY] 760 800 240
OF ML R EIY] 40,0002 199! 760
04 SASIYIETY| 4,200 4,200 0
ORASYLREY| 350, 0008 * 128 4,200
=B (BRI L) 35,138 28,730 6,408
122l 35,138 28,730 6,408
201 Yere gl 22,138 18,830 3,308
01 At=2telt] 20,508 18,200 2,308
O1 Yptegy| 10,080
> A4S (S AHS X2/ 105)
700,0008 * 128 8,400
R k] 5,00021 #4H+7 R *122 1,680
03 2949 9,000
=] 50,0002 *121%1802 9,000
05 S 1,428
SIEIR S 7,0008 1791« 12 1,428




SN BARRAY L
HE: #H2 A
Sl DI FH (B KAL) (S5 & 2)
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2

02 2=l 1,630 630 1,000
O3 A& ZE S| 1,630
PYeLI| RABS 15,0002 «7CH +63] 630
SNESIPIEE 1,000, 0002 * 14! 1,000

202 o1t 3,600 3,600 0

01 =Uofbl 3,600 3,600 0
OJl=2430it| 300,000 * 122 3,600

405 XarE S 9,400 6,300 3,100

01 KALSEFSH] 9,400 6,300 3,100
OFC 1,300,0002 2CH 2,600
OZRIED 700,00021 #1CH 700
OFE=5] 500, 00024 #1CH 500
ouz 400,000 =2CH 800

AEE g 200,000 104 2,000

O
OagEg 2t 70,000 *40H 2,800




